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MC, Chem?2, Sum 18, Testl \0 Name_

Please read all the questlons VERY carefully before answering. On scantron start from the same
bubble number as the question number for your multtiple choice question. Write neatly. If I
cannot read your answer, you will not receive any point. Use the attached periodic table and
constant chart. No outside paper is allowed. Total points = 36 + (24x3=)72 = 108

SHORT ANSWER. In all calculations, write the set up equation first, then put the raw data with units. Then do your
calculations. Points will be deducted if your answer is not clearly written.

1) Show calculations with units to convert 16.32 pounds (Ib) into grams (g) (given 1 kg = 1) 740/ g9
2.2051b and 1 kg = 1000g). (6 pts.) o

(.32 6 kg . _1000g

| L 2.208 Lo T kg
- 7,401.300S 4
=/ 740 9 f v
2) Chlorine has two isotopes: Cl- 35 wih natural abundance.75,77% and mass of 34.97 amu 2 38.45 Ay

and another one Cl- 37 with natural abundanc%Z?% and mass 36 97 / amu. Calculate the
atomic mass of chlorme with correct unit (6 pts.).
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3) Write the formula for (4ts. each; Total 12 pts.): 3)

(a )Ammomum phosphate / ?\j }vé- ) 3 ;C’Q._{ /
NHLT "i p@ 3~ —~ I

(b) Cadmium Sulfite:  d T() 3 -
cd™ L0587 o

(c) Lead (IV) hydrogen carbonate: §3;§ \«m CO2 j o
Pb™ HCO, =

4) Write the names for the following compounds(4ts. each; Total 12 pts.): 4)

(@) CoTHSOR)y. Cobait () hydragen Suifate
(b)AIE(CTOAL%: aluminium chromate

(©P20s:  ofi phosphoruy  gentaoxide v~




MULTIPLE CHOICE. On scantron start from the same bubble number as the multiple choice question number. Choose
the one alternative that best completes the statement or answers the question (3 pts. each).
.A)(\Yé energy

5) What color of visible light has the longest wavelength7 5) C

A) green B) blue &red D) violet E) yellow
7 6) Then =1 shell contains @ p orbitals. All the other shells contain J /P orbitals. 6) E
A)6,2 B)3,6 03,3 D)0, 6 @3
Is?

7) The 3p subshell in the ground state of atomic xenon contains electrons. 7) B
A)2 B)6 —, Os D) 10 E) 36

Xe (S4) = 182252 2¢% 3 CHS23d" Hp°

8) The ground state electron conflgur ¢ for Znis
A) [Ar]3s23d10

8 ([

Zn (30)
/BﬂKr]4523d10 s ]
C) [Ar]4s23d10 o o
[Acf HS% 3*°
D) [Ar]4s13d10 el 457 3
_EBy[Kr]3s23d10
9) The elements in the period of the periodic table have a core- electron configuration that ~ 9) C
is the same as the electron configuration of neon. - B
A) first B) second C) tl D) fourth E) fifth
=3 ~
< 10) Elementsingroup ___ have anp® electron conﬁguration in-the outer shell. 10) { 2
A) 5A B) 6A C) 4A ' D)8A ) E)7A
) \W,J//: N —
exTRER<p Y S2 7,48 h;fj b>
11) How many valence electrons are in a iodine atom? 2 " 11) A
(A) s Br b Ys224904 45
; 17 I ({Uc{,ﬂﬁ. - voorT I
Q1 valence -5?> 7 )
D) 10 Clecton L
E) none of the above Core elgGton = 53 e
12) Which state of matter has 1ndef1n1te shape and is compre551ble7 12) D
A)plasma I
B) liquid
Q) solid
(D) gas
E) none of the above
13) How would you classify tea? 13) C,

A) pure substance- element
B) mixture- heterogeneous
C) ixture- homogeneous
D) pure substance- compound
E) none of the above




14) Which of the following elements has an atomic number of 4?
A) He

B)H
(O
D) C
E) none of the above

15) What is the atomic symbol for silver?
(A
B) Au
Q) si
D)S
E) none of the above o
o
16) The names of the elements whose symbols are Si, P, Mn;, and S are respectively,
A) silicon, phosphorus, magnesium, and sulfur.
B) silicon, potassium, magnesium, and sulfur.
C) silicon, potassium, magnesium, and sodium.
D) silver, phosphorus, magnesium, and sulfur.

,/I:Z\)/s licon, phosphorus, manganese, and sulfur.

17) Nonmetals are located where on the periodic table?
A) left side
B) middle
C) zig- zag diagonal line
;:@ight side
E) none of the above

18) What is the formula for an ionic compound made of magnesium and sulfur?

A) MgS Mg * §4 Mg

N4

o
Mg»S3

D) Mg»S
E) none of the above

19) How many protons and neutrons are in Cl- 37?
A) 37 protons, 17 neutrons
B) 17 protons, 37 neutrons Cl
C) 20 protons, 17 neutrons ?Of«}‘f“ii!.f“'.@‘ 2177
( D7 protons, 20 neutrons e
E) none of the above
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20) A specific isotope of an element is known to have 15 protons and 16 neutrons. Which symbol
would properly represent this isotope? -

16
AT X

3
B) |S 3 0
31
i/a) 15T Ny
15
/Bj’SlGa

E) none of the above

TRUE/FALSE. In scantron fill the circle "A" for a True answer and "B" for False answer (3 pts. each).

21) The decimal number 0.0000010 expressed in scientific notation is 1.0 x 106.

/)(”

22) The number 0.010100 has five significant figures.

23) When the number 65.59 is rounded to contain 2 significant figures, it becomes 66:0."
G.lxi0' -

/,/‘ 24) The gold foil experiment proved that large regions of the atoms consisted of empty space.

25) The charges on electrons and neutrons cancel each other to give neutral atoms.
f.rv-ﬁﬁr:

26) Isotopes are atoms of the same element that have a different numbers of neutrons.

N ,/'
/

27) The ionic compound that forms between aluminum and oxygen is A}@
, AT 0F > 41203
28) SO2 is an )i}ﬁi’é compound.

Covan+
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